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Multiplication and division
Answers

Day 1 Multiplication and division Sheet 1 Day 1 Multiplication and division Sheet 2
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Challenge

The children should create a chain of numbers which starts:
1x2=2+1=3x2=6+1=7x2=14+1=15x2=30..

Day 1 Multiplication and division
Sheet 3
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Challenge

The children should create a chain of numbers which
starts:
2x2=4-1=3x2=6-1=5x2=10-1=9x2=

18 -1=17..
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Day 2 Doubles and halves Sheet 1

Double 4 = e Double 6 = Double 8 = Double 5=
Half of = Half of = @ Half of = Half of =

Double 7 = Double 11 = Double 13 = Double 15 = @
Half of - Half of - Half of - Half of -

Challenge

Double@= 18 Half of =12
Double =20 Total spots of ladybird
wings = 14
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Multiplication and Division
Answers

Day 2 Doubles and halves Sheet 2
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a) Half of 12 = Double -12 h) Haifof30=| 15
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b) Half of 16 = Double 16 i) Half of 22
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C) Half of 8 = Double 8 J) Half of 28

d) Halfof 18 = Double 18 k) Halfof26=| 13

e) Halfof 14 = Double =14 |) Halfof 0=

Challenge
f) Halfof 20 = Double =20
Half of | 30 15 Double =28
g) Halfof24=| 12 | Double = 24
Half of | 32 |=16 Double =38
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Day 3 The cake sale Sheet 1
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Challenge

=

32 gives the longest chain:
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